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Ideals for irreducible component#ﬂ)f Xpar

I = (W +u® 4+ 203+ 1)

* 1 irreducible components of dim¢ = 0, with total 24 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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L I = (u?* 4+ u?® — 50?2 — 6u?! 4 13u?° 4 18u'® — 20u'® — 34u'” 4 19u'6 +
44u® — 10u? — 42u'3 4 2412 + 32u!t — 22u® + 13u” + u® — 6u® —u* +2u +1)

(i) Arc colorings

o ()

0
ag = U
1
a6 = u2
—u
a1 = \—ud+u
—u3
az = \—ud+u
ud —ub +ut+1
a7 = u® — 2u8 + 2u?
uB
ag = wd —ud 4 u
wd—ul+ut+1
ag = \ g% — 208 + 3ub — 2u* + u?
u?l — 4ut?® + 9ul” — 120t + 120t — 10wt + 9u® — 6u” + 3u® — 2ud +u
az = u? =5+ —3uS +u
w?l — 44! 4 90l — 120! + 12683 — 10wt + 9u® — 6u” + 3u® — 2ut + u
asz = u? —but + . —3u’ +u
(ii) Obstruction class = —1

(iii) Cusp Shapes
= —4u?3 4+ 2402 + 4020 — 72019 — 2008 4+ 132017 4 52016 — 160u'® — 84ul?t + 132u!3 +
92412 — 8441t — 72010 + 5209 + 4448 — 3207 — 2418 + 8u® + 120t + 4ud — 4u? — 2



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
“ w4+ 3uB 4 du 1
€2 u? —13uP + . — 202 + 1
c3,C7 v uB o+ 2ut1
C4, Cg u? —uP 4 —10u 41
Cs,Cy u B 420 1
e w + 11u® =207 + 1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
‘1 v y® 20y +1
C2 y24_3y23+_4y+1
c3,C7 v 13yP 2% 1
C4,C6 Y =19y 4 48y +1
cs, Co y? —11yB 4 — 27 41
cg y24+5y23+_4y+1




(vi) Complex Volumes and Cusp Shapes

Solutions to I}

V=1(vol + y=1C)

Cusp shape

—0.981563 + 0.2143171

—1.74298 4 0.408411

—5.87200 — 0.755631

—0.981563 — 0.2143171

—1.74298 — 0.408411

—5.87200 + 0.755631

0.803335 + 0.4910881

1.74384 — 2.057211

4.27298 +4.017931

0.803335 — 0.4910881

1.74384 + 2.057211

4.27298 — 4.017931

—0.527198 + 0.7448031

6.35994 + 2.923831

5.29020 — 3.293001

—0.527198 — 0.7448031

6.35994 — 2.923831

5.29020 + 3.293001

1.085860 + 0.1075621

0.74814 + 3.772651

—1.89193 — 3.491061

1.085860 — 0.1075621

0.74814 — 3.772651

—1.89193 + 3.491061

—0.433290 + 0.7795471

5.84506 — 5.780821

4.37527 + 3.726291

—0.433290 — 0.7795471

5.84506 + 5.780821

4.37527 — 3.726291

—1.062920 4 0.3871571

—2.96425 4 1.343201

—6.02964 — 0.620001

—1.062920 — 0.3871571

—2.96425 — 1.343201

—6.02964 + 0.620001

0.452781 + 0.7178741

2.63437 +1.182901

1.39246 — 0.399101

0.452781 — 0.7178741

2.63437 — 1.182907

1.39246 + 0.399101

1.083310 + 0.4622911

—2.43992 — 5.713211

—4.10823 + 7.503611

1.083310 — 0.4622911

—2.43992 4- 5.713211

—4.10823 — 7.503611

—1.041780 4 0.6147101

4.82981 + 2.245241

3.02697 — 1.893831

—1.041780 — 0.6147107

4.82981 — 2.245241

3.02697 + 1.893831

1.075010 + 0.5852591

0.79700 — 6.179591

—1.78521 + 5.045551

1.075010 — 0.5852591

0.79700 + 6.179591

—1.78521 — 5.045551

—1.097340 + 0.6049791

3.87224 4 11.000001

1.31825 — 8.052841

—1.097340 — 0.6049791

3.87224 — 11.000001

1.31825 + 8.052841

0.143789 + 0.5488801

0.05596 4 1.772251

0.01088 — 4.0418471

|22 |g|g|r|g|g|g|g|g|”|g|2|g(g|g|g|g|g(g |-

0.143789 — 0.5488801

0.05596 — 1.772251

0.01088 4 4.041841




II. u-Polynomials

Crossings u-Polynomials at each crossing
1 w30+ du 1
C2 u? —13u® = 2u? 1
c3, C7 W ruB o+ 2u+1
C4, Ce u —uB 4 —10u+1
cs, Co u? uB 42l 41
s w11 - 202 1




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
€1 Py 20y + 1
C9 y24_3y23+_4y+1
€3, C7 v 13y 4 -2 41
c4, Co Y —19y* 4 — 48y + 1
cs, Co P —11yP 4+ — 2% 41
Cg y24+5y23+_4y+1




